Math 150 Spring 07 Name:

TEST #1 @ 150 points

Solve the problems on separate paper. Clearly label the problems. Show al stepsin order to get credit. No proof, no
credit given
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1. Fnd sina , cosb , tana , cotb if
7
aezJ_ -16
2. Lettarea number and P — + apoint on the unit circle that corresponds to t. Find the exact values of
g 3 '35 2
the six trigonometric functions of t.
- } B
3.FAnd g if 0" <q <360° and sinq = with g in quadrant I1.
4. Find the exact values of the following:
a) sind5 +cos(-30°) b) sin(240°) c) tanE+cosB d) cos(495°)
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) sin& ¥ 9 f) tanaégID 0 0 cos@g
& 45 6 g &6 3
5. Usetheunit circleto find al the values of g between O and 2p for which
1 J2
a) sinq =— b) cosq =- —
) sing > ) COsq >
6. Prove the following trigonometric identities:
2 .
. +
a) cscq+sm(-q):C(?Sq b) coga +1 Sma:Zseca
sing 1+sna cosa

7. Show that tangent is an odd function.

8. A mixing blade on afood processor extends out 3 inches from its center. If the blade is turning at 600 revolutions
per minute, what is the linear velocity of the tip of the blade in feet per minute?

9. A lawn sprinkler islocated at the corner of ayard. The sprinkler is set to rotate through 90° and project water
out 60 feet. What is the area of the yard watered by the sprinkler?

10. From a point on the ground 500 feet from the base of a building, it is observed that the angle of eevation to the

top of the building is 24° and the angle of eevation to the top of aflagpole atop the building is 27°. Find the height
of the building and the length of the flagpole.
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